
COMSTAR 200-400 EDV-NR.SA413 - GEHAEUSE, MOTOR, SCHNEIDWERK, FAHRGESTELL, RAEDER

SABO-Maschinenfabrik GmbH
A John Deere Company
Telefon +49 (0) 2261 704-0
Telefax +49 (0) 2261 704-104
www.sabo-online.com

Auf dem Höchsten 22
D-51645 Gummersbach.
Dieringhausen

JP Morgan AG
SWIFT/BIC CHASDEFX
IBAN DE67 5011 0800 6161 5043 26

WEEE-Reg.-Nr.: DE 15991147
USt-ID-Nr.: DE 123 371 884
Geschäftsführer:
Christoph Büscher
Amtsgericht Köln HRB 39054

1 / 4



COMSTAR 200-400 EDV-NR.SA413 - GEHAEUSE, MOTOR, SCHNEIDWERK, FAHRGESTELL, RAEDER

TEIL STCK.NR BEZEICHNUNG STCK. SER-NR.- -SER-NR. BEMERKUNG

1 SA31841 MESSER 1   ASSY 

2 SA31844 MESSERKLINGE 1   ASSY 

3 SA36769 SCHEIBE 1    

4 SA36850 DICHTUNG 1   V-RING UA25 

5 19M7924 SCHRAUBE 4   M8X16 

6 SA36781 PUFFER 1    

7 SA36782 PUFFER 1    

8 SA32692 SCHRAUBE 1   M5X12 

9 SA36840 DECKEL 1    

10 SA36843 VERKLEIDUNG 1   REAR 

11 T12526 UNTERLEGSCHEIBE 4   14 

12 SA36961 RAD 2    

13 SA36842 DECKEL 2    

14 SA36853 FEDERMUTTER 2    

15 SA36788 ACHSE 1    

16 SA15504 SCHRAUBE 2   M6X8 

17 SA37246 HALTER 1    

18 LCA73043 UNTERLEGSCHEIBE 1   20X28X2 

19 SA37249 HAUBE 1    

20 SA32693 SCHRAUBE 4   EJOT PT-KAS30 

21 SA37252 KABELBAUM, ELEKTROMOTOR- 1    

22 24M7054 UNTERLEGSCHEIBE 4   6,4 

23 14M7165 SICHERUNGSMUTTER 4   M6 

24 SA36768 SCHEIBE 1    

25 19M8826 SCHRAUBE 1   M6X16 

26 14M7528 SICHERUNGSMUTTER 4   V M6 

27 21M7246 SCHRAUBE 4   M6X16 

28 12M7081 FEDERRING 4   A 6,4 

29 SA36851 DRUCKFEDER 1    

30 SA36778 TUERMATTE 1    

31 SA36854 SCHUTZ 2    

32 SA36883 FUSS 2    

33 49M7058 KEIL 1   A 8X7X18 

34 SA37248 ELEKTROMOTOR 1    

35 24M7139 UNTERLEGSCHEIBE 2   6,4 

36 SA36772 PLATTE 1    

37 SA36856 SCHRAUBE 2   M6X20 

38 24M7055 UNTERLEGSCHEIBE 1   A 8,4 

39 SA37255 STIFT 1    

40 SA36855 DRUCKFEDER 1    

41 SA36773 GEGENSCHNEIDE 1    

42 SA36946 HALTER 1    

43 SA36775 KLINGE 1    

44 SA36897 TRICHTER 1   ASSY 

45 SA37257 HAUBE 1   ASSY, INCL KEYS 23, 26, 35, 36, 37, 38, 39, 

      40, 41, 44, 46 

46 SA37254 EINSATZ 1    

47 SA37259 ELEKTROMOTOR 1   ASSY, INCL KEYS 16, 17, 19, 20, 21, 22, 23, 

      33, 34, 49, 50, 51, 52 

48 SA36864 STOPFEN 2    

49 14M7265 SICHERUNGSMUTTER 2   M5 

50 24M7027 UNTERLEGSCHEIBE 2   5,3 

51 SA37253 ISOLATOR 2    

52 SA32694 SCHRAUBE 2   M5X16 

 SA36779 GEHOERSCHUTZ 1    

SABO-Maschinenfabrik GmbH
A John Deere Company
Telefon +49 (0) 2261 704-0
Telefax +49 (0) 2261 704-104
www.sabo-online.com

Auf dem Höchsten 22
D-51645 Gummersbach.
Dieringhausen

JP Morgan AG
SWIFT/BIC CHASDEFX
IBAN DE67 5011 0800 6161 5043 26

WEEE-Reg.-Nr.: DE 15991147
USt-ID-Nr.: DE 123 371 884
Geschäftsführer:
Christoph Büscher
Amtsgericht Köln HRB 39054

2 / 4



COMSTAR 200-400 EDV-NR.SA413 - AUFKLEBER

SABO-Maschinenfabrik GmbH
A John Deere Company
Telefon +49 (0) 2261 704-0
Telefax +49 (0) 2261 704-104
www.sabo-online.com

Auf dem Höchsten 22
D-51645 Gummersbach.
Dieringhausen

JP Morgan AG
SWIFT/BIC CHASDEFX
IBAN DE67 5011 0800 6161 5043 26

WEEE-Reg.-Nr.: DE 15991147
USt-ID-Nr.: DE 123 371 884
Geschäftsführer:
Christoph Büscher
Amtsgericht Köln HRB 39054

3 / 4



COMSTAR 200-400 EDV-NR.SA413 - AUFKLEBER

TEIL STCK.NR BEZEICHNUNG STCK. SER-NR.- -SER-NR. BEMERKUNG

1 SA37011 AUFKLEBER 1    

2 SA37037 AUFKLEBER 1    

3 SA36752 AUFKLEBER 1    

4 SA36724 AUFKLEBER 1    

5 SA37014 AUFKLEBER 1    

6 SA37013 AUFKLEBER 1    

7 SA37038 AUFKLEBER 1    

SABO-Maschinenfabrik GmbH
A John Deere Company
Telefon +49 (0) 2261 704-0
Telefax +49 (0) 2261 704-104
www.sabo-online.com

Auf dem Höchsten 22
D-51645 Gummersbach.
Dieringhausen

JP Morgan AG
SWIFT/BIC CHASDEFX
IBAN DE67 5011 0800 6161 5043 26

WEEE-Reg.-Nr.: DE 15991147
USt-ID-Nr.: DE 123 371 884
Geschäftsführer:
Christoph Büscher
Amtsgericht Köln HRB 39054

4 / 4


